1. of" of7E o] A A4 A, B, C9 €82 0.5, 0.35, 0.6 o]tk Al
Ag7t A40 2 o] A off, B QtEHE H §E27

21 3 21 1
D% %0 920 P20 9300






3. 482 _ g ol o x 9] 7L

@ 2 @ 4 ® 6 @ 8 ® 10



4. w-y=20Ta=2% p=2" A, T o) gy

O 8 @ 16 ® 32 @ 64 ® 128



B4 (2x - 5y) : (-3x—y) =3 :4 5 x o Tolo] EH?

© x=y @ x=2y ® x=3y

@ x=4y ® x=5hy






—~(x+05)<-15

ax—4<x

O o7t x =1 4w, a o %

il
=



O
o
o
Cld

el

ol FApof A 30 § ©]

8.

'Ho
BK

@ 474 ® 48 9 @ 499 ® 509

@ 46 ¥



o] F Lol L EHolE B =
At A Ao E8e]7} Aol 1
O FEEE oM 2t s 2
Aol e SRt 7o AR 712 ¢
AE e Zoltt. o] IZE HI 0 E
Hpo] o] &3} FojZt F4527

=
o
filo

@ 6km, 2km @ 0.6km, 0.8km

@ 0.6km, 0.1km ® 0.6km, 2.4km

YA (km)

8__ ______

614 :

4 /i I

24 | |

R

O 10 20 30 <«

® 6km, 0.1km



10. th& 19y o] 3 7o BB A B,C & Uy

M Mo Astng | 4

$0] 52 Tatolet (2,

W

o Abzteo] it




7b A 100 PR

A FolM a7t 2 4 s 7P 2 4 x, 100 23] A Foll A

a7t 2 5

ol
L

@ 20 ® 24 @ 37 ® 50

@D 4






13.

L

Q
Il

AZP A ax + by +20 = 0 y,
°ltt. AAOB 9] Wel7t 10 €],
(8, q) = A ™, ¢ o gt= 73t

Ry



BdEix

D ER

S i

“3x+y+12z=15
dx +2y—-6z=-5
x+4y+ 12z =16



15. x, y ol et AHTEA 0), el si7E 2= W, a + b o] g2

Sx+3y=17 ax —2by = -2
7h (th)
ax+by =13 dx-Ty=15

@® -1 @0 ®1 @ 2 ® 3



ne

:3,y:4°ElEH,a+b+69’]%}f%



17, A (2,-1)2 A3, QRS y = —20+59] Tz} By A4S
JEmE s QRS A2 Fohu?

®y=-2x+5 @ y=-2x+3 ®y=-2x-1

@ y=2x+3 ®y=2x-1



@ y=-2 ® x=0

DO x=-2

® y=-3

@ x=-3






|

20
27

0[S

— O

Al e



=vy0]H 1 .
21. x*y%{x el ol a =03, b =03, ¢

x#yolH -1

029, e = = o 1, T}o9] Zke Tatola}.

"3

— d =

(bxc)*(axd)*(bxe)




22.

BSA1<|x-1<6

Fotofet.

o Z =L 1= 2~ ==
S EStE A x S

Be

i)

Akt

_7:3]



23.

A (p—2)x+(3+2q)y-2 =0 9] T=HZ7F A (1, 3) & AL
2 o} WP uf, A5+ p, ¢ 5 27 AR Fotoizt,



Al X
R 2
0 , Al X}Oq
0 o] 2 P
PRI ELa i—ZT’ A9l
e ZL%%T?W .
it 7are et Aoy 1
R %X};f A 9] 2
. 1 O E] :
oo =27}
, ZF 2] 9

o e
7HA]



25. ofZ 2™ E2 6 A TR A4
Me Godn gt 7R ET} A2 E ZH2
& 170 o)de A s e O

- Pl

=% 717




